) em)

o3 d
H
S

@0 @) (rad)

S
L

..........................................................................

o(d dz) (cm)‘

1072

w

Ratig:

1 o0 1 2 3 09573

-2

—=— DQM_V0001_R000000001__Global__CMSSW _orig
—e— DQM_V0001_R000000001__Global _CMSSW._hpt08
—— DQM_V0001_R000000001__Global__CMSSW_hpt05

..........................................................................

o p_/p.)

107t

TN

R R ) U B SRS e

1072

............................................................

OL:-VOIT.

Rati

0.950

o 1 2 3
TP ® (PCA to beamline)

o 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


